jl_'%m Series: [ 7. 10. 12. 11. 19.], erreur Mk 0 = 384.139174509 Toebnp Series: [ 7. 10. 12. 11. 5.], erreur Mk 1 = 401.30452204
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Temp Series : [ 7. 10. 12. 11. 6.], erreur Mk 2 = 407.535828548Temp Series : [ 7. 10. 12. 11. 14.], erreur Mk 3 = 414.202049055
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il'%n? Series : [ 7I. 10. 1|2. 11. 13.], erreur Mk 4 = 435.041048513il'e0m Series : [ 7I. 10. 1I2. 11. 16.], erreur Mk 5 = 435.11I37
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Terr? Series: [ 7. 10. 12. 11. 15.], erreur Mk 6 = 435 612666372f8mp Series: [ 7. 10. 12. 11. 3.], erreur Mk 7 = 439.547009741
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il'eom Series: [ 7. 10. 12. 11. 17.], erreur Mk 8 = 441.634484725T6r6p Series: [ 7. 10. 12. 11. 1.], erreur Mk 9 = 445.161545504
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